[ealuyoa |

Metric series (0.6 =d=4mm)

B—= B, .‘
3 - et

D D d D
L]
3 ; By - By | Bp—f |~
Bore Outer Flange Open Bearings [ _ Seal, Shield Bearings Load Rating " Ball Complement Weight

Diameter: | Diameter: | Diameter: Cr'_:fr::s' Width: | Flange Bearing Referance Width: | Flange dics Speed. Cage f) il fe
d D Di B Widh B | o | Flange | pgpielas | Flanse 2Seals B1 Widih:Bft | CrN) [ Cor(N) | Grease | Oil Type |Qy:z | SizeDw |Open |7hnge [astious | Flanes

mm| inch [mm| inch [mm | inch | mm [ inch [mm] inch [mm] inch Open 2Shields | spg | 2r0 [ TS mm | inch |mm] inch (N) x1000min - pes. | mm | inch g
06| 0023 |25 0094 | ~ | - | 005|000 [ 10| oo [~ | - | sms | - - - - -1= Bl E 59 1 128 152 w 5 |os0 |omw | om [ - | - | -
10 00334 |30 | 0.1181 | 38 | 0.4% | 005 | 00020 | 10| 003%4 |08 | 00118 | 681 | Fedi - - - -1- - - 1=1- % 5 117 1% W 6 | 0600 |002% | 003 | 004 | - | -
80| ome1 |~ | - |o005| o020 [15| oot |~ | - | wRat | - - - -1 -1- - - [=1- % = 1 1% W 6 | 0600 |ooes | o4 | - | - | -
40| 01575 | 50 | 0.4%9 | 040 | 00039 | 16| 00630 |05 | 0097 | 691 | Feoi - - - -1~ - - [=-1- 1t v 105 124 W 5 |00 [003t5 | 088 | od2 | - | -
12| 00472 |40 | 01575 | 48 | 069 | 040 | 00039 | 18| 00709 |04 | 00157 | MRe1x | wFaixX | WRéixzz | - - -1- 25 oo | - | - 7 E 105 124 W 7 | 06w |0a% | o1 | ot | a4 | -
15| 00591 |40 | 0175 | 50 | 0193 | 005 | 00020 [ 12| 00472 |04 | 00157 | eeix | resrx | estxz | Fesuaz | - | - | - 20 | 0077 |06 |00z | 2 B 105 124 W 7 | 06w |08 | 007 | 003 | om0 | 013
50 | 01969 | 65 | 0959 | 015 | 00059 | 20| 00787 |06 | 0026 | 691X | Fowix | 69tz | Feexzz | - | - | - 26 | 0024 | 08 | 00315 | 238 @ ] " W 100 | 00334 | 018 | 024 | 023 | 030
60 | 022 | 75 | 02953 | 015 | 00059 | 25| 0098 | - | - | 60X | - | 6oz | Fexzz | - | - | - 30 | 0181 |08 | 00315 | 330 % & 101 W 6 | 1200 |o0o72 | 03 | - | 038 | 048
20 0w |20 0 | = | - 005 oo [12] ooz [ = - | &% - | ez - -1 -1- 20 oo | - | - 12 @ % i W 8 | 06w |omm | 005 | - | o | -
50 | 0199 | 61 | 02402 | 008 | 00031 | 15| 00591 |05 | 00197 | 682 | Fese | esazz | Fegaz | - | - | — 23 | 0006 | 08 | 0025 | 169 50 94 i W 6 | 080 |0m15 | 013 | 016 | 018 | 0z
50| 01969 | 62 | 02441 | 010 | 00039 | 20| 00787 |06 | 0023 | WRsz | WP | weszz | WRsezz | - | - | — 25 | 00% | 08 | 0023 | 189 50 ] i W 6| 0800 00315 | 07 | 021 | 019 | 02
60 | 0232 | 75 | 02953 | 015 | 00059 | 23| 00006 |06 | 0026 | 692 | Fewe | ez | Fewzz | - | - [TIS 50 01161 | 08 | 00315 | 50 @ & 101 v 6 | 1200 |07z | 028 | 03 | 03 | 043
60 | 02362 | 7.2 | 02835 | 0.15 | 0.0058 | 25 [ 00984 |06 | 0023 MR62 MF62 MR62ZZ MF62ZZ = — e 25 | 00%4 | 08 | 00236 330 % 86 10 w.J 6 1200 | 00472 030 0.35 0.29 042
70 | 0275 | 82 | 03228 | 045 | 00059 | 25| 00984 | - | - | WA2 | - | WRrzzs | WFrezzs | - | - | TS 30 | 01181 | 06 | 0026 | % 28 7 Y W 7 | 1200 |omr2 | 046 | - | 051 | 0se
70 | 0275 | 85 | 0336 | 045 | 00059 | 28| o2 | = | - | 602 — | 6ozs | Feoas | - | - | TS 35 | 01378 | 09 | 0034 | 3% 128 7 % W 7| 12w |omr2 | 050 | - | om0 | om
25| 00984 |60 | 02362 | 71 | 02795 | 008 | 00031 | 18| 00709 | 05 | 00197 | 682X F682X 682XZZ F682XZZ = = = 26 | 01024 | 08 | 00315 209 73 81 9% W 8 0800 | 00315 022 0.26 0.31 0.37
70 | 0275 | B5 | 03346 | 045 | 00058 | 25| 00%84 | - | - | X | - | eoexzzs | Feexzzs | - | - | T1S 35 | 01378 | 09 | 0034 | % 2 7 EY W 7 | 1200 [omr2 | 042 | - | 0% | 04
80| 0310 | ~ | - | 020 ooos |25 ooset [ = | - | wmex | - - - - -1~ = - = - 59 7 0 82 W 6 | 188 o006 | 0s2 | - | - | -
80 | 03150 | 95 | 03740 | 015 | 00059 | 28| 0102 |07 | 0076 | 602X | Feox | eoexz | Feodxzz | - | - | - 40 | 04575 | 09 | o034 | s6f 17 72 B W 6 | 198 | 00625 | 063 | 074 | 086 | 09
30| 07181 |60 | 02062 | 72 | 0283 | 0.0 | 00033 | 20| 00787 | 05| 0026 | W3 | W3 | WReszz | Wiz | - | - | - 25 | 00%B4 | 08 | 002 | 29 7 & % W 8 | 080 | 0m5 | 02l | 0z | 0% | 0at
7.0 | 02756 | 81 | 03189 | 0.10 | 0.0039 | 20| 0.0787 | 05 | 00197 | 683 F683 68322 F683ZZ 2RS | 2RU | — 30 | 01181 | 08 | 0.0315 3 12 74 88 W 8 1000 | 00394 | 033 0.37 0.44 052
70 | 0275 | B1 | 03189 | 0.0 | 00039 | 80| 0181 08| 015 | - | Fegs® | - - -1 - 30 | 0181 |08 | o035 | % w 7 Y W 1| 08w |05 | - | 0% | - | o0&
80 | 03150 | 92 | 03622 | 0.5 | 00059 | 25| 098¢ |05 | 002% | W3 | W3 | WReszZ | Wrgizz | - | - | - 30 | 0181 | 08 | 0026 | 3% % & 7 J 7| 1200 | 0072 | 085 | 063 | 05 | omt
80 | 03150 | 95 | 03740 | 045 | 00050 | 30| 0181 | 07| Qo6 | 693 | Fews | 6wz | rowzm | RS | - | - 40 | 0555 |09 | o034 | %9 7 n B WATW | 6 | 1588 | 00625 | 080 | 071 | 078 | 0
90 | 03543 | 102 | 04016 | 020 | 00078 | 25 | 00984 | 05 | 0023 | MRS | MF33 - - - -1- - - 1=-1- 572 188 3 [ W 6 | 1488 00625 | o1 | 0m | - | -
90 | 03503 | 106 | 04173 | 045 00088 | = | - [ =] - - - [ whmzm | weez | - | - | - 40 | 01575 |08 | 0mts | o2 188 65 [0 W 6 | 1588 0065 | - | - | 18 | 18
90 | 03543 | 105 | 0413 | 015 | 00069 | 80| 0181 |07 | 006 | 603 | Fevs | @z | sz | - | - | - 50 | 01%9 | 10 | 0034 | 52 8 3 7 W 6| 1588 | 0062 | 085 | 097 | 13 | ise
100] 03937 [ 115 | 04528 | 0.5 | 00050 | 40| 0575 | 10| 00394 | 6230 | P23 | 622z | Feedzz | 2RS | 2AU | TTS 50 | 055 | 10 | o034 | 63 218 & 7 J 7 | 188 | 00625 | 159 | 178 | 167 | 186
180] 0518 | = | - | 020 00079 |50 04%9 | - | - | 80 | - | ez - |ms || - 50 019 | = | - 1300 45 5t & J 7 |2 |oow | 295 | - | a1 | -
40 | 01575 |70 | 0275 | 82 | 03228 | 040 | 00038 | 20| 0077 | 05| 0023 | MR74 | WFT4 - - - -1- -1 - =1 - w2 115 n 8 W 8 | 1000 |00 | 02 | 0; | - | -
70 | 076 | B2 | 0328 |00 00088 | = | - [ -] - - - [ wwaz | wzm | - | - | - 25 | 00s84 | 08 | 0026 | % 107 7 8 W 1| 080 |o0ms | - | - | 031 | 0w
80 | 03150 | 92 | 03622 | 0.5 | 00050 | 20| 00767 | 06| 0023 | VB4 | Wrea - - -1 -1- - - -1 - B 0 & B ITW_ | 7 | 1200 | ooz | 0% | 048 | - | -
80 | 0350 | 92 [ 0362 [0 oo | —[ - [ -] - = — | wmez | vz | - | - [T 30 | 0181 | 08 | 0ozk | 5% 0 & ™ ITW_ | 7 [t [om2 | - | - | 051 | om
90 | 03543 | 103 | 0405 | 010 | 00063 | 25| 0036 | 06| 0026 | 64 | Foet | 6Bazz | Fosr | 7R8 | 2RU | TIS 20 | 0555 [ 10 | o0 | 64t % & 75 WITW | 7 | 158 | 0%6% | 08 | 071 | 0% | 109
100] 03957 | 112 | 04409 | 020 | 00079 | 30| 0181 |08 | 0023 | wWAi0a | wRlo4 | - - - -1~ o - B - 7 mn 5 i J 8| 1588 | 0065 | 10 | 109 | - | -
100] 03937 | 116 ] 04567 [020 | 000% | = | - [ -] - - — | WRibzz | Wrizz | 2% | U | - 40 | 01555 | 08 | o035 | 711 m 5 7 i 8 | 198 |05 | - | - | ;| 14
11.0] 04331 | 125 | 0491 | 0.5 | 00059 | 40| 04575 | 10| 00384 | 694V | Fes™ | Mz | Fe%ezz | RS | 2RU | - 20 | 055 | 10 | oo | %59 u 5 &7 i 7| 200 | oo | 148 | 169 | 161 | 181
120 | 04724 | 135 | 05315 | 020 | 00079 | 40| 01575 | 1.0 | 00394 | 6041 F604 0 80422 FB04ZZ 2RS | 2RU | — 40 | 01575 | 10 | 0.03%4 959 347 57 67 J 7 2000 | 00787 202 225 214 237
130] 05118 | 150 | 05006 | 020 | 00078 | 50| 0490 |10 | 00304 | 6240 | o4 | adzz | Fooezz | 205 | 2RU | — 50 | 0.1%9 | 10 | 003 | 130 3 5t El J 7 | 231 | 0% | 271 | 305 | 2 | a2
160] 06299 | 180 | 0.7087 | 030 | 00118 | 50| 0199 | 10 | 00394 | 8340 | P | G2z | Fosezz | 2s | 2hU | TTS 50 | 0.1%9 | 10 | 0039 | 1340 517 ® 54 J 7| 2381 | 003 | 486 | 529 | 520 | 563

(1) Open typa bearings have shield/seal grooves.  (2) Single shield or singla seal types ara also available; suffix Z, RS, RU or TS.
(3) Prefix S or suffix H Is added for stainless material types. Load ratings of stainless material types are calculated by CrX0.85 and CorX0.80 of SUJ2 material types.
(4) Applicable only for open, single Z, ZZ, single RU and 2RU types In inner ring rotating conditions. Max. speeds for the contact rubber seal(s) types will be around 50-80% of above values.

24 25



|EDIUYDa |

)
=]
@
35
&
(=]
=

Metric series (5=d=9mm)

(1) Open type bearings have shield/seal grooves. (2) Single shield or single seal types are also available; suffix Z, RS, RU or TS.

Bore Quter Flange | opomte Open Bearings ] Seal, Shield Bearings
Diameter: | Diameter: | Diameter: I's(min}r Width: Flange Bearing Reference
d D Df B Width: Bf Open |Flange | oo 0o | Flange 2Seals
mm| inch [mm| inch [mm | inch | mm | inch [mm]| inch [mm]| inch Open 28hields [2RS [ 2RU [ TTS
5 | 01969 [ 8 | 03150 | 92 | 03622 [ 040 | 0.0039 | 20 [ 00787 |06 | 0023 [ MR85 | MF85 - - -1 =-1-
8 | 03150 [ 92 | 03622 | 010 | 0.0038 | — = = = & = MR85ZZ MF852Z = - | T18
9 | 03543 [ 102 | 04016 | 0.5 | 0.0058 | 25 | 0.0884 | 06 | 0.0236 | MR9S MFg5 MR3522 MF9522 = - | T18
10 | 03937 | 11.2 | 04409 | 0.45 | 0.0058 [ 30 [ 0.1181 | 0.6 | 00236 | MR10S \7MF105 =S = =) = =
10 [ 03937 [ 116 | 04567 | 015 00058 | = | - [ =] - - - MRI05ZZ | MF1052Z | 2RS | AU | —
11| 04331 [ 126 | 0491 | 015 00058 [ = [ - [ =] - - - MR1152Z | MF1152Z | 2RS | 20 | -
11 | 04331 | 125 | 04921 | 015 | 0.0059 | 30 [ 01181 | 0.8 | 0.0315 | 685 F685 68522 F685ZZ 2RS | 2RU | -
13 | 05118 | 150 | 05906 | 0.20 | 0.0078 [ 40 [ 01575 | 1.0 | 0.0394 | 635 FB95t | 69522 F89522 2RS | 2RV | -
14 | 05512 | 160 | 06299 | 020 | 0.0079 | 50 | 0.1968 | 1.0 | 0.0394 | 6051 FB050! 60522 FB05ZZ RS | AU | -
16 | 06299 | 180 | 0.7087 | 030 | 0.0118 [ 50 [ 0.1969 | 1.0 | 0.0394 | 625" F625 | 62522 F8252Z RS | AU | -
19 | 07480 | 220 | 0.8661 | 030 | 0.0118 | 6.0 | 0.2362 | 1.5 | 0.0591 | 6350 F63501! 63522 FB35ZZ 2RS | 2RU | =
6 | 02362 | 10 | 03937 | 112 | 04409 | 0.45 | 0.0058 | 25 | 0.0384 | 0.6 | 00236 | MR106 MF108 = 5 = = =
10 | 03937 | 11.2 | 04408 | 0.10 | 0.0038 | = = o ) a i MR1062Z MF106ZZ = = =
10 | 03937 | - = 040 | 00039 |30 (0181 | = | - 676(TTS)| - = = -l -1ms
12 | 04724 | 182 | 05197 | 0.20 | 0.0078 | 30 | 0.1181 | 06 | 0.0235 | MR126 | WF126 - - -1 -1-
12 | 04724 | 136 | 05354 | 020 | 0.0078 | — = = = = i MR1262Z MF1262Z 2RS | AU | -
13 | 05118 | 150 | 05906 | 0.45 | 0.0058 [ 35 [ 0.1378 | 1.0 | 0.0394 | 686 F686 68622 F68622 2RS | 2RU | TTS
15 | 05906 | 170 | 06693 | 020 | 0.0079 | 50 | 0.1969 | 1.2 | 0.0472 | 6861 FE36( 69672 F6962Z 2RS | 2RU | TTS
16 | 06299 | — = 020 | 0.0079 | 50 | 01969 | — = B9BA™Y = 696AZZ = 2RS | 2RU | -
17 | 06693 | 190 | 0.7480 | 030 | 00118 [ 6.0 [ 0.2362 | 1.2 | 0.0472 | 606! Fo060! 60622 FB06ZZ 2RS | 2RU | -
19 | 07480 | 220 | 0.8661 | 0.30 | 0.0116 [ 60 [ 0.2362 | 1.5 | 0.0581 | 626! F626% | 62622 F626ZZ 2RS | 2RU | -
19 [ 07480 | — - 030 | 0.0118 [ 60 | 0.2362 | — = 626(TT8) e - =, = - | T18
22 | 08661 | = - 030 | 0.0118 | 7.0 | 0.2756 | = - 6360 - 63622 - 2RS | AU | =
7 | 02756 | 11 | 04331 | 122 | 04803 | 0.15 | 0.0059 | 25 [ 00384 | 06 | 00236 | MA117_| MFI17 | MR117ZZ8 | MF1I7ZZ8 | - | — | 118
13 | 05118 | 142 | 05591 | 020 | 0.0079 | 30 | 0.1181 | 0.6 | 00236 | MRi37 MF137 - - - L -
13 | 05118 | 146 | 05748 | D15 | 0.0058 | — = = 5 = = MR137ZZ MF137ZZ = - | 118
14 | 05512 | 160 | 06299 | 015 | 0.0058 | 35 | 0.1378 | 1.0 | 00394 | 687 F687 66722 FB87ZZ ZRS | 2RV | TTS
17 | 06693 [ 19.0 | 0.7480 .30 | 0.0118 | 50 [ 01968 [ 1.2 | 0.0472 | 637" Feg7t! 69722 F6972Z 2RS | AU | -
19 | 07480 | 220 | 08661 | 030 | 0.0118 | 6.0 | 02362 | 1.5 | 0.0591 | 607 Fe074 | 60722 Fe07ZZ 2RS | 2RU | -
19 | 07480 | = o .30 | 0.0118 [ 60 | 0.2362 | — = 607(TTS) = = = = - | T18
22 | 08661 | 250 | 09843 | 030 | 0.0118 | 7.0 [ 02756 | 1.5 | 0.0591 | 62700 F627¢ 62722 F627ZZ 2RS | 2RU | TTS
2 | 1023 | = - 030 | 0.0118 | 90 | 03543 | = - 637N - 63722 - 2RS [ RU | -
8 | 03150 | 12 | 04724 | 132 | 05197 | 045 | 0.0059 | 25 | 0.0384 | 0.6 | 0.0236 | MR128 MF128 = = = = =
12 | 04724 | 136 | 05354 | 090 | 0.0038 [ — - = - = o MR1282Z MF1282Z | 2RS | 2RU | TTS
1 0.5512 | 156 | 0.6142 .20 | 0.0079 | 35 [ 0.1378 | 0.8 | 0.0315 | MR148 MF148 - - - - -
14 | 05512 [ 166 06142 | 015/ 00058 | = | - [= ] - - - MR1482Z | MF1482Z | 2RS | U | -
16 | 06299 | 180 | 0.7087 | 020 | 0.0079 | 40 | 0.1575 | 1.0 | 0.0394 | 688 F688 | 688ZZ FE88ZZ | 2RS | 2RU | TIS
19 | 07480 | 220 | 0.8861 .30 | 0.0118 | 60 | 0.2362 | 15 | 0.0591 | 698" FA3BM 69822 F698ZZ 2RS | AU | -
22 | 08661 [ 250 | 09843 .30 | 0.0118 [ 7.0 | 0.2756 | 1.5 | 0.0591 | 608" F608 | 60822 F6082Z 2RS | 2RU | TTS
24 | 09449 | ~- = .30 | 00118 [ 80 | 03150 | = g 628 = 62822 - 2RS | 2RU | =
28 | 11024 | — = 130 | 0.0118 | 80 | 03543 | — = B38! = 63827 = 2RS | AU | -
9 | 03543 [ 14 | 05512 | = = 010 [ 0.0035 | 30 | 0.1181 | = = 679 = 679225 = = - | T18
17 | 06693 | 19.0 | 0.7480 | 020 | 0.0079 [ 40 [ 0.1575 | 1.0 | 0.0394 | 689 F589 68972 F6897Z 2RS | RU | -
20 | 07874 | 230 | 09055 | 0.30 | 0.0118 [ 60 | 0.2362 | 1.5 | 00591 | 699 F69gM | 69922 F899ZZ 2RS | 2RU | -
24 | 09449 | 270 | 10630 | 030 | 00118 | 7.0 | 02756 | 15 | 00591 | 609 FE0SU | 609ZZ FB09ZZ | 2RS | AU | -
26| 10236 | — S 0.60] 0.0236'9 | 80 | 0.3150 | — = 62911 = 62922 = 2RS | 2AU | -
30 | 11811 | = = 060 | 0.0236 |10.0 ) 0.3937 | — - 63911 - 63922 o 2RS | 2RU | —

(3) Prefix S or suffix H is added for stainless material lypes. Load ralings of stainless material types are calculated by Gr<0.85 and CorX0.80 of SUJZ material types.
(4) Chamfer dimension (4) is not based an JIS B 1521.

(5) Applicable only for open, single Z, ZZ, single RU and 2RU types in inner ring rotating condifions. Max. speeds for the contact rubber seal(s) types will be around 50-60% of above values.

26

B—
o :I:L_lf I
: - )
T i 4 7
D Dy
8§
LS
1
Br o | B | Bp—e| | B =
. Weight
Width: Flange s Wi sbeed Cage Pall‘Gompleient (Reference)
Bi | WidthBft | CnN) | ConN) | Grease | OIl | Type |Gtz | Size:ow | Open PR | ssmioss | Flanee
mm | inch |mm| inch (N) x1000min-1 pes. | mm | inch g
- - -] - 309 12 [ ] w 8 | 1000 | 0034 026 | 03 - -
25 | 00984 | 06 | 0.0236 218 91 63 7% w 9 0800 | 00315 i 2 0.36 042
30 | 01181 | 06 | 0.0236 432 168 60 Iil W 8 1200 | 00472 | 050 058 058 065
= = = = 432 168 60 n w 8 1.200 | 00472 | 084 103 = =
40 | 04575 | 08 | 00315 432 168 60 7 w 8 | 1200 | noar2| - - 123 | 138
40 | 01575 | 08 | 00315 716 283 54 B4 ] 8 | 1588 | 00625 - - 154 | 171
50 | 0199 | 1.0 | 0.0394 716 283 54 64 JTW 8 1588 | 00625 | 1.8 134 1.83 203
40 | 01575 | 10 | 0.03%4 1080 430 50 59 J 8 2000 | 00787 | 213 247 228 262
50 | 01969 | 10 | 0.0394 1330 507 48 56 JTW 7 2381 00837 | 309 352 3.36 379
50 | 0199 | 10 | 00394 1730 670 4 52 JTW 7 2778 | 01094 | 430 L il 453 494
60 | 0232 | 15 | 0.0591 2340 888 3 45 J ] 3500 | 01378 [ 7.57 8,68 811 921
= & = = 497 218 54 64 w 10 1200 | 00472 | 058 066 = =
30 | 01181 | 06 | 0.0236 497 218 55 64 W 10 1.200 | 00472 e = 071 078
30 [ome | = [ — n 172 55 85 W 11 | 1000 | 0034 078 | - e | -
- - -1 - 716 293 50 59 w,J 8 | 1588 | 00625 124 | 1.35 - -
40 | 01575 | 08 | 0.0315 il 23 50 58 wJ 8 1588 | 00625 = = 1.57 177
50 | 01969 | 11 | 00433 1080 438 48 56 JTW 8 2000 | 00787 | 185 217 250 286
50 | 0199 | 12 | 0.0472 1340 517 46 54 J T 2.381 00937 | 352 398 382 428
50 | 01069 | = [ — 1340 517 % 54 J 7 |23 | o0%7| 446 | — [ 478 | -
60 | 02362 | 12 | 0.472 2260 838 42 49 J f 3500 | 01378 | 543 597 5.94 6.47
60 | 02%2 | 15 | 0.0591 2340 889 3 45 JTW ] 3500 | 01378 7.8 831 770 884
60 | 02362 | - s 2240 912 7 44 J T 3176 | 01250 | 750 = 172 =
70 | 02756 | = = 3300 1370 x) k] J 7 3969 | 01563 | 122 = 12.8 =
30 | 01181 | 06 | 00236 456 201 50 59 w 9 [ 1200 | 00472 061 | 070 | 075 | 084
e . = = 541 276 45 53 W 12 1200 | 00472 | 158 167 = -
40 | 01575 | 08 | 00315 541 276 45 53 w 12 1.200 | 00472 = = 200 225
50 | 0199 | 11 | 00433 1180 St A 52 J 9 2000 | 00787 | 204 239 277 315
50 | 0199 | 12 | 0.0472 1610 716 40 41 JTW 9 2381 0.0937 | 481 535 5.03 5.57
60 | 02362 | 15 | 00591 2340 889 3 45 JTW 6 3500 | 01378 | 676 7.90 126 840
B0 | 02362 | — = 2240 912 37 a4 J 7. 3175 | 01250 | 691 = 713 =
7.0 | 02756 | 15 | 0.0581 3300 1370 3 8 JTW 7 399 | 01563 | 116 130 122 136
90 | 03543 | = = 4 580 1870 28 B ) 7 4762 | 0.1875 | 221 - 232 =
= = = = 544 275 46 54 w 12 1200 | 00472 | 01 0.80 = =
35 | 01378 | 08 | 0.0315 594 275 46 54 W 12 1200 | 00472 = - 1.01 1.2
= - = = 818 386 42 50 J 10 1588 | 0.0625 | 1.80 201 = =
40 [ 01575 | 08 | 00315 818 386 2 50 JTW 10 | 1568 | 00625 | - = 200 [ 222
50 | 01969 | 11| 00433 | 1280 590 0 47 ] 10| 2000 | 00767 | 316 | 357 | 479 | 425
60 | 02362 | 15 | 0.0591 2240 912 ki 4 J T 3175 | 01250 | .21 734 .72 7.85
70 | 0275 | 15 | 0.0591 3300 1370 3 B JTW i 3969 | 01563 | 110 123 18 128
80 | 03150 | = = 3330 1410 31 K J 7 3969 | 01563 | 165 = 17.2 =
90 | 03543 | — = 4 580 1970 28 B d 7 4762 | 01875 | 2712 = 284 =
45 | 04772 | = = 919 467 41 8 w 12 1588 | 00625 | 129 = 1.84 =
50 | 0199 | 11 | 0.0433 1330 664 ki 44 J 11 2000 | 00787 [ 343 386 412 458
60 | 02362 | 15 | 0.0591 2470 1070 3 42 J ] 3175 | 01260 | 7.09 827 759 877
70 | 02756 | 15 | 00591 3350 1430 £l % J 7 | 3969 | o163 | 133 | 147 | 140 | 155
80 | 03150 | — = 4580 1970 il B J 7 4762 | 0.1875| 178 G 189 =
100 | 03937 | = - 5110 23%0 25 30 Rd 8 4762 | 01875 [ 333 = 348 =
27



